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A slave whose master sold him for the fine, etc.

OVERVIEW

The X713 posed a query whether the owner of a slave can sell only the 01p aspect
which the slave possesses.' mooIn explains why the query was not whether he can
sell the o1p itself (instead of selling the 72y for his 01p).
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He did not query what the rule would be if he sold the o1 of the 72y, for even
according to »''9, the buyer would not acquire the rights to the 01p, since it is not
expected to come -
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As the X7n) states; and certainly according to the 3129, the buyer will not acquire the

D1p, since they maintain 07192 X2 KW 227 73PN DX PX -
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Rather the query is where the master sold the slave for the rights to the o1p
(which the master possesses in this slave) in which case perhaps even according
to the 3121 the buyer will acquire it, just as in the case where one sells a tree for
its fruit -
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As the X713 states, ‘the ox is standing and the 72y is standing before us’, so it is not

comparable to the rule of 9"2%w 127 73pn X"R; this is one side of the query -
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Or perhaps even according to »''1 the buyer will not acquire the 01p for it is not

similar [even to the fruits of a tree]
$NNT S752Y N9 NN NNPYYN NOIP SN INNRT 1529 Y910 910 DINEY MI9NY

" If an ox kills an >35> 72y the owner of the ox must pay the owner of the slave 2°9pw oW 2Ww; it is this right which he
has in the slave that he is willing to sell, in all other aspects the slave still works and belongs to the original master,

? "3 maintains DWW X2 X9W 727 mpn 078, However he may maintain it only if it is °nX7 *7ay; there is a strong
possibility that it will come to pass.

? It is highly unlikely that an ox will kill this 7ay.

* Where one sells a tree for its fruit (not merely the future fruits of the tree) the 1327 agree that it is a valid sale, since
the tree is present; so he is selling a part of something which is already 0719 X2.

> Here too the 72y is before us and the oxen are also here, so since he is not selling the o1p but the right to the i,
which the 72v possesses it may be considered 0715 Xa.

® The fruits come directly from the tree which is here and it is extremely likely that the tree will bear fruit, however
by the 72v he does not produce the 03, so his being here does not necessarily make it that the 01p is 021w3; it is much
less 073 than even the p7 M0, and additionally the chances of this 72y being killed by an ox are extremely small.
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For the fruits come from the body of the tree (which exists) and they usually
grow from the tree, however the o17 comes from elsewhere and “nX7 5792y N>,

SUMMARY

We should be able to sell the 72y for the 01p (even according to the 7127) since it is
like M9 57, on the other hand we should not be able to sell the 72y for the o1p
(even according to n"3) since the 0I1p is ¥1%¥n and not >NRT >7°av it is less 07wa
than (even) %p7 Mo

THINKING IT OVER

moon mentions two differences between 7 M0 and 01p% 7av; by %P7 M the
md come from the Hp7 directly (but by 0ip it does not come directly from the
72Y), and 7 M0 are "nR7 >7°2y (but the 0Ip is not *NXT »1ay).” Our X113 however
only mentions the difference regarding °nX7 >7°2¥, but not that the M7 come
directly from the 7. How can we explain this?

See ‘Thinking it over’.
7 See footnote # 6.
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